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=) UPCOMING ONLINE BATCHES

07 SEP 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

September 2022

14 SEP 2022 21 SEP 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

28 SEP 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

N 7052477777/7052577777
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BASIC CONCEPT
HT SIIYIRUM
Time and Efficiency (or one day work) both are
inversely proportional to each other .
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BASIC CONCEPT
e SEYTROM

> Wages always distributed in the proportional of
work.




-HW :- If 5 men or 9 women can do
a piece of work in 19 days . In how
many days 3 men and 6 women will
do the same work ?
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plece of work in 6 days. If A can work
twice faster than B and thrice faster
than C, than the number of days C
alone can complete the work is :
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Q:-2. ‘A’ work twice as fast as ‘B’. If

both of them can together finish a piece

of work in 12 days, then ‘B’ alone can

do it in- o5 " ?ﬁr
3¢l:- A, B bl ol E,;I!!-'-II
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Q:-3. ‘A’ work twice as fast as ‘B’. If

both of them can together finish a piece

of work in 12 days, then ‘B’ alone can

do it in- o5 " ?ﬁr
3¢l:- A, B bl ol E,;I!!-'-II
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@- Twenty wormeriogetfidi€ar CPC
complete a piece of work in 16 days,
16 men together can com plete the

same work in 15 days. The ratio of the
working capacity of a man to that of a
. woman is:
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. A can do @Spiec&of ankein/ T2 O - 2022
Ja s and B in 20 days. If they together
work on it for 5 days, and remaining
work is completed by C in 3 days, then
in how many days can C do the same
. work alone?
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20 days and 12 days respectlvely A
started the work alone and then after 4
days B joined him till the completion of

the work. How long did the work last?
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They all work together for 1 day, then A
and B quit. How many days C working

. alone will take to complete the

} remaining of the job?
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@ in 20 daysih&yGSfakeéFidgetHerbut 2022-23
after 4 days A left the work the
remaining work was completed by B

" alone in 24 more days. In how many

days can A complete the entire work

[' alone?
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in 40 days B and Cin3
and A in 24 days.
(i) How long will it take them to do the

work together ?
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days and B can do same work in 12 days
. Find the number of days in which they
can complete the whole work if they work
on alternate days and work is started by
A ?
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7 € TV R FN 1IN ~ Y &
EX =0T Fhran orZ women or o

ooys can do a piece of work in 33
days . In how many days 1 man and 1
woman and 1 boy will do the same
work ?
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